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18. How many such pairs of letters are there in the word “IMPERATIVE”, each of which has
as many letters between them in the word (in both forward and backward directions) as
they have between them in the English alphabetical series?

TMeg "IMPERATIVE" H 31&RI & U fha oS &, foH @ ud® & o9 2isg | (3
3R 4t il fo=met #) I 7t 81&R g fora= S7a ST sitsht quidrer g

A. Six

B. Seven

C. More than eight
D. Less than six

E. Eight
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19. Change all the vowels of the word “PRECIOUS” to its next letters
and all the consonants to its previous letters and then arrange them in
alphabetical order. Which letter will be 4 th from the ri%I_'\t?

g "?gcmus" & g ?%’rgﬁaasgi?ﬁ?&ﬂmi 3;&%’[ 3R mj;r
ol B 3P fUsa of qUITpH
AU B | DI T &R 1A A AT GRI?

A.)

B.B

C.O
D.P
E.Q
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Twelve people are sitting in two parallel rows containing six people each in such a way that there
is an equal distance between adjacent persons.Inrow 1-P,Q, R, S, T and U are seated (but not
necessarily in the same order) and all of them are facing south.Inrow 2-A, B, C, D, E and F are
seated (but not necessarily in the same order) and all of them are facing North. Therefore, in the
given seating arrangement each member seated in a row faces another member of the other
row. P faces D. U does not face A, who sits left to E but not immediate left. R sit at one of the
ends and diagonally opposite to B. Three persons sit between B and F, who does not face U. C sits
immediate left to D but does not faces S. Two persons sit between Q and U, none of them sits at
the end. The one who faces T sits 2nd right to A.

9RE AR < GHHIGR Ufeadl A Ude A 9 Afad 50 PR 98 2 b A Aferal &
dagaA I gl Ufdd1#-p,q,R, S, TR UTS '(Wﬁ?«_ﬁﬂﬁ%sﬁﬂﬁe‘%
ST FTg@ cféur &t sk g1 ufRi 26 - A, B, C, D, E 3R F 9 B (AIfp1 SIe=<1 ol fob 3
Wﬁﬁ)aﬁ'\rmwmmg@waﬁaﬁ?%?ﬁu 7S doP AR A TP UfRT H oS
VA GG ST HE gusl U] & 30 TG Bt 3R
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Twelve people are sitting in two parallel rows containing six people each in such a way that there
is an equal distance between adjacent persons.Inrow 1-P,Q, R, S, T and U are seated (but not
necessarily in the same order) and all of them are facing south.Inrow 2-A, B, C, D, E and F are
seated (but not necessarily in the same order) and all of them are facing North. Therefore, in the
given seating arrangement each member seated in a row faces another member of the other
row. P faces D. U does not face A, who sits left to E but not immediate left. R sit at one of the
ends and diagonally opposite to B. Three persons sit between B and F, who does not face U. C sits
immediate left to D but does not faces S. Two persons sit between Q and U, none of them sits at
the end. The one who faces T sits 2nd right to A.
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R T P U § 21. Who among the following faces A?
: Q — Frafafea d 9 f5aer g@ A 1 siv g?

(a) S (b) T (c) Q (d) R (e) none of these

A F C [) E B 22. How many persons sit to the right of R?
R P ST 3R foha- aafad 96 872

(a) No One (b) one (c) two (d) three (e) four

23. Four of the following five form a group, who among
the following does not belongs to that group?
RUINCORIEE R Ta% §91d @, Fuferad
X 4 e O g @ W ey 27

(a)U(b) T(c)E(d)F(e) A
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l:.{ Q T ]? IIJ $ 24. If in a certain way R is related to C, T is related to E,
' ) ' o then who among the following is related to D?

gfe v fAfdd a9 9 R, c 9 YA §, T, £ ° Jdfd
2 A FEfif@a B S A Tt 82

3;\ F C [) E B (AU (b) T(c)E(d) F(e) Q

25 Who amo éthe following sit 3rd right to U?

PHUP I A YT TR 93T

(a) R(b)T(c)P(d)S(e)Q
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20. All the even value digits of the number '746238945' are increased by 1
and all the odd value digits are decreased by 1, then what will be the sum of
the 4th number from the right and fifth number from left?
T '746238945' & GHT U A 31 B 1 A d¢1 fear SIar & 8iiz
Tt faum A siwt @Y 1 | ger faa oian 3, d@Y ol & 9rf e SR
I | Uiad] ST ST TR AT g2

A.8

B.10

C.15

D.11

E.12
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10 people celebrate their birthday on 15th and 20th of 5 months- January, March, April, June and
November. R celebrates birthday after Q. L celebrates his birthday on 15th of the month which
has 31 days. Exactly 2 persons celebrate their birthdays between that of L and P. Exactly 3
persons celebrate birthday between that of P and O. M celebrate birthday just before T but not in
June or November. Also, both M and T celebrate a birthday in the same month. The number of
persons celebrating a birthday before O is same as the number of persons celebrating birthday
after N. Both U and S celebrate a birthday in the same month and U celebrates a birthday before

S.

5 HEIH DI 15 3N 20 ARG BT 10 ART YT STHIGH HATA §- SIARY, AT, ST, 5[ MR
TdaR | R, Q & §T¢ ST-HIS HATAT 8 | L YT S-ATe- 39 g1 B 15 ARG DY H4TdT 8
forad 31 faq gia 81 31 2 aafdd L 3R p & St g1 S=afeA #d § 1 Sip 3 Afad p 3R
0 & S T HIGA T € | M, T ¥ 1 Ugel Al HATd & dfeh o a1 AdaR H -Ta1 | q1Y
g1, M 3R T 311 U gt # HATd 8 1 0 A Ugd S-Hfe H911 a1l afaadl &t
BT N & TG ST AT d1a Al 681 & GAM ¢ | U 3R s GH1 b g1 Hg 1 &

1
!
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10 people celebrate their birthday on 15th
and 20th of 5 months- January, March,
April, June and November. R celebrates
birthday after Q. L celebrates his birthday
on 15th of the month which has 31 days.
Exactly 2 persons celebrate their birthdays
between that of L and P. Exactly 3 persons
celebrate birthday between that of P and
O. M celebrate birthday just before T but
not in June or November. Also, both M
and T celebrate a birthday in the same
month. The number of persons
celebrating a birthday before O is same as
the number of persons celebrating
birthday after N. Both U and S celebrate a
birthday in the same month and U
celebrates a birthday before S.



http://www.mahendras.org/

/ W athendna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Day

People

Jan 15

Jan 30

Mar 15

21. Who celebrates a birthday on A r 15th?
15 30d DI TrFFIﬁ_-I aﬁq n=n?n

A.M B.L

Mar 30

Apr 15

Apr 30

June 15

22. Who celebrates a birthday just after R?
RS 3‘1$ arq' ﬁq rﬁ:%:r AT 87

A. L E.M

June 30

Nov 15

Nov 30

WIC|IOo|AH =20 Z|IO|T

23. Who celebrated her birthday before M?
M I ggel foae arq=n TrFFIﬁ_-I HAT?

A.Q B.R CT E.
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Day

People

Jan 15

Jan 30

Mar 15

Mar 30

Apr 15

24. How many people celebrated their birthday
between Q and O?

Q 3R 0 & 9 fohd= @Y A (U= S
H9T?
A.4 B.5 C.6 D.2 E. None

Apr 30

June 15

June 30

Nov 15

25. Who celebrated their birthday just before P?
P& P Ugd fra= T HATAT?

A.N B.Q C.R D.O E.Noneofthese

Nov 30

WIC|IO|ABH=Z|OZ(O|T
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There are five buses P, Q, R, S, T and they have different number of capacities not
necessarily in the same order.

¢ P has higher capacity than Sand T.
* R has less capacity than only Q.

e S carries more passengers than T.

26. If R carry 62 Passengers then what would be the capacity of
o P! &HATS IR T SAF B bus Q2 TTS R 62 TFATT D) & ST &, A Q I8 BT &1 T
e RPI AT HAA QI FHT| gHil?
o s, T 3Hfe gl B agd HIAT 2| A.53 B.24 C.71 D.49 E.None of these

27. Which bus has the least capacity? fog 99 &t &y

a9 FH 87

A.Q B.P C.R D.T E. None of these

28. If P carry 25 passengers and T carry 9 passengers then what
would be the capacity of S which is divisible by 3 and not

divisible by 52 Tf¢ P 25 TR B A STAT & 3R T 9 AT B
AT, dl s P yAdT RIS 3 A faursa g 3k 5 A
fAursg gl 82

A. 15 B.18 C.20 D. 27 E. None of these
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‘the capital of delhi’ is coded as ‘jai veru miti viki’. 29. What is the code of ‘crowd’?
‘many festival in delhi’ is coded as ‘viki, nic,dic,vij’ . A. miti B. sik C. dic D. tif E. None of these
‘crowd in the capital’ is coded as ‘dic, veru, miti, sik’.

‘season for festival’ is coded as ‘nis, tif,vij’. 30. What can be the code of ‘festival in
‘delhi for country’ is coded as ‘viki, noo, tif’. india’?

A. vij, veru, zee
B. vij, miti, zee
C. vij, dic, sik

D. vij, dic, zee

E. None of these

31. What is the code for ‘festival in india
crowd capital’?
A. vij, dic, veru, sik, miti
T TP B. vij, dic, jai, sik, miti
Y. | C. vij, dic, veru, sik, viki
' Z:OO ¥ { | D. vij, dic, mee, sik, tif

E. vij, dic, mee, sik, miti
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‘the capital of delhi’ is coded as ‘jai veru miti viki’. 32. What is the code of ‘capital ’?
‘many festival in delhi’ is coded as ‘viki, nic,dic,vij’ . A. ‘vik’ or ‘miti’
‘crowd in the capital’ is coded as ‘dic, veru, miti, sik’. B. ‘veru’ or ‘miti’
‘season for festival’ is coded as ‘nis, tif,vij’. C. ‘nic’ or ‘miti’
‘delhi for country’ is coded as ‘viki, noo, tif’. D. ‘vij’ or ‘dic’
E. None of these

33. If in a certain code language
‘festival’ is coded as ‘vij’ and ‘in’ is
coded as ‘dic’ in same code language
What will be the code of ‘delhi’ ?
A.viki B.nic C.sik

D. Can’t be determined

E. None of these
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There are six members in a family. F is the sister of E and A is the brother of C's husband. B is the father
of D and grandfather of E. There are two brothers and two fathers in the family. C is married to B.

IaR # B8 P8 MR A, cH Uufd fuar g sk
%T ﬁa%ﬁ%%%mB% AC% $1 HTS 2| B, D BT fUdT § 3R E BT STeT

34. Who is F's mother? F 1 HTdl I %?
A.E B.A

C.B D. Cannot be determined

E. None of these

35. If E is married to an outsider M, how is 'F' related to M?

H%Eﬁﬁaﬁﬁ?\ﬁmﬁw%mﬁgan% arE, My

5 upR ddfyd g2
A. Brother—in—law B. Sister—in—law
C. Aunt D. Grandmother

E. None of these
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PQ,R,S,T,U,V, and W are eight different boxes. They are arranged in such a
manner that Box 1 is at the bottom, the box 2 is above it and so on such that the
topmost box is box number 8. R is box number 3. There are only two boxes between
the box R and the box V. Box W is placed immediately above the Box Q. There is only
one box between the box T and the box U. Box T is placed above box U. There is only
one box between the Box R and Box S. Box S is somewhere below Box T.

P,Q,R,S,T,U, V3R W TS -3¢ 9199 8 | 373 39 d¥e I gaieyd fosar
a1 @ b Sfe 1 e R R, IR 2 9P HU & 3T U a8 e HUX are
WWWa%laWWs%lWRaﬁvw%aﬁamaﬁW%
T v, 199 W, ST9 Q & 31 S UR IWGT 7T 5. 91T T 3R J1 U & I had
U d1e9 3. WTWU%WWW% T R 3R 91T s & dg Padd

Th diga 8. s, fesar T A w2
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PQ,R,S,T,U,V, and W are eight
different boxes. They are arranged in
such a manner that Box 1 is at the
bottom, the box 2 is above it and so on
such that the topmost box is box
number 8. R is box number 3. There are
only two boxes between the box R and
the box V. Box W is placed immediately
above the Box Q. There is only one box
between the box T and the box U. Box T
is placed above box U. There is only one
box between the Box R and Box S. Box S
is somewhere below Box T.
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8t box | W
7th DOX Q 36. Which among the following box is the fifth numbered
6% box |V box? . o o
Frafafed & 9 o a1 fsar uraarl sHie arar fesar
5 box |P 87
4% box | T A.S B.Q CW DP EV
3"d NOX R 37. Which among the following box is exactly between the boxes
nd b RandS? . o .
2" box | U ot & @ S5 T e R 3R s S St A 82
1st hox | S AU B.P CV DT EW
38. Which among the following is the topmost box?
ﬁ"-;ri%r@?r H 9 gad w awn ST AT 8?
AT B.Q C.W E.V
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8t box | W
th 39. Four of the following five are alike in a certain
7 box | Q ,
= way and hence they form a group. Which one of the
6™ box |V following does not belong to that group?
5th box | P frufefad uig 4 9 9R ve ffga afie 9§ 99H
5 T %aﬁvsﬂﬁﬂawﬁaﬂﬁ%mﬁﬁ
OX DI AT 39 GYE § Haled T8l 87
39 box | R A.R B.V C.P D.S EQ
2" box | U
st
1+ box S 40. How many boxes are there between box Q and
box U?
&= q iR &= U & Ay foraH fe= 82
A. None B. One C.Two D. Three E.
Four
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Statements:
Only a few wells are mats.
All pillows are mats.

Conclusions:
(1) Atleast some pillows are wells.
(1) All wells can never be pillow.

A. If conclusion | follows

B. If conclusion Il follows

C. Either conclusion | or conclusion Il is true

D. Neither conclusion | nor conclusion Il is true
E. Both conclusion | and Il are true
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6. Statements: T<P<U; L>U<K; P=R
Conclusions:
LEKZR
H.L>R
A. Only conclusion 1 is true
B. Only conclusion II is true
C. Either conclusion I or II is true
D. Neither conclusion I nor II is true
E. Both conclusions I and II are true

Statements: H=1<R; M =2 R<S
Conclusions:

I. M=1

II.M>1

A. Only conclusion I is true

B. Only conclusion II is true

C. Either conclusion I or II is true

D. Neither conclusion I nor II is true
E. Both conclusions I and II are true
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8.

Statements: D>H=2N; S>1<H 9.
Conclusions:

I.LN<S

I. N <D

A. Only conclusion I is true

B. Only conclusion II is true

C. Either conclusion I or II is true

D. Neither conclusion I nor II is true

E. Both conclusions I and II are true

10.

Statements: P<O<I;P>Y>W
Conclusions:

LY¥Y<]

ILO>W

A. Only conclusion I is true

B. Only conclusion II is true

C. Either conclusion I or II is true

D. Neither conclusion I nor II is true
E. Both conclusions I and 1I are true

Statements: A2B>C2=2F; Z<C=<D<E
Conclusions:

LA >:2

II.F> E

A. Only conclusion I is true

B. Only conclusion II is true

C. Either conclusion I or II is true

D. Neither conclusion I nor II is true
E. Both conclusions I and II are true
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There are three generations in a family of ten members. There are three couples in the family. A is
G’s grandfather. Cis B’s daughter. H is E’s niece. F is I’s mother. D is G’s father. J is B’s granddal\lyghter.

Every couple has a son and a daughter. D is J’s uncle.WW%WWﬁ?ﬁqtﬂﬁﬂT'&ﬁ?ﬁ
%quﬁﬂlgﬁ?ﬂqﬁﬁé%IA,G%émalc,Bﬁﬂiﬁ%IH,Eﬁll?ﬂGﬁ%IF,lﬂﬁﬂﬁT%ID,G
&1 fUdr 81 ), B B Uell 81 8 SIS BT TP acT 3R U dcl 81 D, ) T 3hd g

11. How is F related to J?
A. Father B. Sister C. Mother D. Son-in-law E. Brother

12. How is B related to G?
A. Grandfather B. Grandmother C. Granddaughter D.
Grandson E. Son

13. How is D related to A?
A. Daughter-in-law B. Son C. Son-in-law D. Brother-in-law
E. Sister
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Statements: All mobiles are smart phones. Statements: All oranges are Bananas.
Some smart phones are gadgets. No banana is an apple

Some gadgets are cheap. .
No gadget is sim. All apples are fruits.

Conclusions: Conclusions:

I. Some mobiles are sim is a possibility I. No orange is a apple

II. Some gadgets are both mobiles and smart II. Some oranges are fruits is a possibility
phones. A. Only I follows

A. Only I follows B. Only II follows

B. Only II follows C. Either I or II follows

C. Either I or II follows :
D. Neither I nor II follow D. Neither I nor II follow

E. Both I and II follow E. both I and II follow
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Statements: All orange are red. Statements: Some trains are stations.

No red is black. Some black are blue. All stations are platforms. All platforms are
All blue are pink. tracks.

Conclusions: Some tracks are bogies.

I. Some red are orange is a possibility. Conclusions:

I. Some tracks are trains.
II. Some bogies are trains.
A. Only I follows

B. Only II follows

C. Either I or II follows

D. Neither I nor II follow
E. Both I and II follow

II. All blue are orange is a possibility.
A. Only I follows

B. Only II follows

C. Either I or II follows

D. Neither I nor II follow

E. Both I and II follow
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Statements: All pens are pencils.

Some pencils are boxes. No box is rubber.
Conclusions:

I. Some pencils are rubber is a possibility
II. Some Boxes are Pen

A. Only I follow

B. Only II follows

C. Either I or 1I follows

D. Neither I nor II follow

E. Both I and II follow
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'very large risk associated' is written as ‘nu ta ro gl’,
'risk is very low; is written as ‘gl se nu mi’,

‘is that also associated’ is written as ‘ta mi po fu’
‘inherent risk also damaging’ is Written as ‘fu nu di yu’

19. Which of the following is the code of 'damaging’?
A. di B. yu C. nu D. either di or yu E. None of these

20. Which of the following may represent ‘risk is very large’?
A. glminuro B.nugltase C.nuroseyu
D. ro gl dinu E. None of these

21. Which of the following is the code of ‘associated’?
A.nuB.poC.taD.fuE.gi
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'very large risk associated' is written as ‘nu ta ro gl’,
'risk is very low; is written as ‘gl se nu mi’,

‘is that also associated’ is written as ‘ta mi po fu’
‘inherent risk also damaging’ is Written as ‘fu nu di yu’

22. What would be the code for ‘inherent large risk’?
A. yuro nu

B. di ro nu

C.yufuro

D. di ta se

E. Either AorB

23. Which of the following may represent ‘low risk associated
industry’? A. ta nu giro
B. ta hi nu se
C. mitase fu
D. di gi ta po
E. po gise di
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A building has eight floors numbered one to eight, in such a manner that the ground floor is
numbered one, the floor above it, numbered two and so on such that the topmost floor is
numbered eight. One of the eight persons, viz, P, Q,R, S, T, U, V and W lives on each floor but
not necessarily in the same order. R lives on third floor. Only two persons live between the
floors of R and V. W lives on the floor immediately above the floor of Q. Only one person
lives between the floors of T and U. T lives above U. Only one person lives between the
floors of R and S. S lives on any floor below the floor of T.

U®h SHRA ¥ 3(TS HiTel &1 =T UF A TS ST YPR & fh SIS TH g,
3P HUR F! HTd B =Tl 8 3R H dRE JaA HU #ioTdd 1 =T 3013 2
3T AfFTA AR B, YA, P, Q, R, S, T, U, V 3R W TP HiVTd UR IgdT @ Afp
ATITYP g1 51 pH A Bl R TR AT IR I8AT 81 R 3R v & dall &b O ad &l
AfRIIEAd B I W, QP 3P HUR aTd TA R IZAT 8 | T 3R U & dall & o Sad U
AR IEATR I T, U P HURIGAT 2| R ddl b dId had Uh Afad IgdT gl 3N s. s, T
P dd P A fEA afora R Igar g1



http://www.mahendras.org/

/ W athendna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

24. Who amop_\%the follgwir)g lives on the fifth numbered floor?
fFrafafad # 1 1 urad HHie ard 9d TR 3841 872

A.SB.QC.WD.PE.V

=INIWIASHIONIDAINIO

wnic|r|H|v|<lo|=s

25. Who among the following lives exactly between the floors of

R and s? FFferRad & A $19 R 3R s & S S A ITgd1 82

A.UB.PC.VD.TE. W

26. Who among the following lives on the topmost floor?

fAufafad 3 9 #i9 99 FHut #ford IR a1 g2

A. TB.QC.WD.RE.V
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27. Four of the following five are alike in a certain way and hence they
form a group. Which one of the following does not belon% to that groaup?

Frafated ua 9 9 9R T A wfe 3 99 8
TS AYg A & | H g D1 1 39 99 9 Jafdd &l g7

A.RB.VC.PD.SE.Q

INIWIAIONID N
(ﬂCZ’—i"U<rOE

28. How many s'ersons live between the floors of Q and U?

Q 3R U S dadl & T fPaa safed ¥8d 82

A. None B. One C. Two D. Three E. Four
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